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Multiplying Fractions with Cross Cancelling Name:
Solve each problem. Answer as an improper fraction (if necessary). Answers
1) 2) 3)
—X—= zxi: zxéz 1
2.
3.
2 5) 6) .
—X—= —X—= —X—=
5.
6.
7) 8) 9) 7.
By3= 2,32 3x2-
8.
9.
10.
10) 11) 12)
2,9_ 6.4 _ 9,8 _ 1
81 40 42 72 36
12,
13.
13) 14) 15) u
ﬂ é: —X Zi: éx 1i: .
10 7 3 3 10
15.
16.
16) 17) 18) 17.
2,42 _ 1,11 1.4._
I3x5= 39%7 ° 375" 18,
M ath 1-10 [ 94]8983[ 78| 72| 67| 61|56 50| 44|
a www.CommonCoreSheets.com 5nf6 11-18|39|33|28|22|17|11| 6 | O




Answer Key

Name:

Multiplying Fractions with Cross Cancelling
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